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QUESTION 1

When using AJAX, what is the purpose of the XMLHttpRequest object?
A. To transfer an XML document to the Web server

B. To request data from the Web server strictly in XML format

C. To read and write to an XML file stored on the local machine

D. To request either XML data or plaintext data from the Web server

Correct Answer: D

QUESTION 2

Suppose you define two variables as follows:

var x = 5;

vary ="5"

Which statement will return the mathematical sum of these variables?
A. alert(x + int(y));

B. alert(x + parselnt(y));

C. alert(x +y);

D. alert((int)x + (int)y);

Correct Answer: B

QUESTION 3

Consider the following code:

sEoript type=s"text.sjavascript'

war TheCounter = 15

while (TheCounter > 0)4

document writed "The count at thi= time i=
TheCounter——:

¥

{SEoript

+ The=Counte=r +

What is the expected result when you run this script in the browser?
A. There will be no visible output, but the script will count down to O.

B. The script will output a countdown from 15 to 0 in the client window.
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C. The script will output a countdown from 15 to 1 in the client window.
D. The script will output 15, then 1, because it will only write the first and last values of a while? statement.

Correct Answer: C

QUESTION 4

Jane has created a file with commonly used JavaScript functions and saved it as "allFunctions.js" in the application\\'s
root directory. She wants to load this file into a Web page to access its functions. Which statement shows the correct
syntax to do this?

A.

B.

C.

D.

Correct Answer: C

QUESTION 5

Which of the following will correctly modify the value of an X/HTML element\\'s attribute within the DOM?
A. getAttribute(NewValue, AttributeName)

B. getAttribute(AttributeName, NewValue)

C. setAttribute(NewValue, AttributeName)

D. setAttribute(AttributeName, NewValue)

Correct Answer: D
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